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Algorithm of the calculation of the steady 
uid 
ow with vorticity through

three dimentional chanel is prsented. The velocity �eld is decomposed in terms

of potential and vortex-induced parts. Vorticity transport calculation is based

on the approximate calculation of the stream line and the time scale functions

of the 
ow particles.
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p dx = 0: (8)

�¥°¢®¥ ¨§ ³° ¢­¥­¨© (1)-(3) ¥±²¼ ³° ¢­¥­¨¥ ±®µ° ­¥­¨¿ ¬ ±±», ¢²®°®¥ {

³° ¢­¥­¨¥ ¯¥°¥­®±  § ¢¨µ°¥­­®±²¨, ²°¥²¼¥ ®¯°¥¤¥«¿¥² ¯®«¥ ¤ ¢«¥­¨©; (2) ¨

(3) ¿¢«¿¾²±¿ ±«¥¤±²¢¨¥¬ ³° ¢­¥­¨¿ ±®µ° ­¥­¨¿ ¨¬¯³«¼± . �¬¥±²¥ ®­¨ ½ª¢¨-

¢ «¥­²­» ³° ¢­¥­¨¿¬ �©«¥°  ¤«¿ ¨¤¥ «¼­®© ¦¨¤ª®±²¨. �³¹¥±²¢®¢ ­¨¥ ¨ ¥¤¨­-

±²¢¥­­®±²¼ °¥¸¥­¨¿ § ¤ ·¨ ¯°®²¥ª ­¨¿ § ¢¨µ°¥­­®© ¦¨¤ª®±²¨ ·¥°¥§ § ¬ª­³-

²³¾ ¯°®±²° ­±²¢¥­­³¾ ®¡« ±²¼ ³±² ­®¢«¥­» (±¬. [1]).
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£¤¥ � = �(x) { ¯®²¥­¶¨ «, ¿¢«¿¾¹¨©±¿ °¥¸¥­¨¥¬ § ¤ ·¨

�� = 0 x 2 


r� � n = �(v � n); x 2 T

r� � n = �u

03

� (v � n); x 2 �

0

r� � n = U

1

� (v � n); x 2 �

1

(14)

Z




�dx = 0:
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£¤¥ ±³¬¬¨°®¢ ­¨¥ ®±³¹¥±²¢«¿¥²±¿ ¯® ²¥²° ½¤° ¬, ±®¤¥°¦ ¹¨¬ ¢ ª ·¥±²¢¥ ¢¥°-
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